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Set p,: 1, Pn=0

Recall Mn: = ((pn,...,Pur( ckn2 /(P(x1 - Pn) = ( for1<k =n- 1)
=R2n-4

Think of a point peMn as an equilateral n-gon:
D P3

Prop
In PC

(n =6)

Give Mn &kn = 12n-4th subspace topology
Then Ma is the model space of unaateral Igons (withrowices

f



&
From day 1: My E .. to

Gal Understand Ms.

cross, and canon=D-cosa, anal
4,pz/2π2 =3:

OCK2: Exactly two possible values for por
1=2: p,

is the midpoint of pets.
1=0:p is

any point
in puts': P's' (occurs iff <:p = M/s or3/s)

2x1:5p3 *



Define REMs to be pentagons with ocl=2

Define Di=((a,pleS'xs'/0ce=2} (Note 1 = (1-03a-cosp) + (sina-compli
Then UD = 1(a,p) esas"/(= 23 and

OD <>D set 5 = ((x,y)(02142).
l T

↓ ↓
D -> R Note 25 =((,p)(n =2

ES1

In fact, 5 = π"-
small opendisk

=>D ="e'vA- 3 Co
a
=b
=c =p

=S



im n =0 A

Model closed adds of t to by CS-ti: A
In Ms, t, to get replaced by circles glued together:

8m 0+RT
glue
antipodal map

-

preserves or in (and similarly for I., E. ly~r
Thus M

E E=-5 w
.. ii.

EWw
M.homehas =CHY#4.



(a- 00) = 1 ② What is iy?

⑭... E f7 2 - Hopf linku =open thickening of CmusV = R" - (smaller closed thickening of i (
UnU



u =shrink radius of towns a take exterior
sunbed) -HL

V =dilate radius of towns a take interior & HL
(bdd)

MnV= fuzzy towers - Hoof link
=Hopf hink


